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Ood ABcxrOO0OO

e AUB:=wiwe AOOO w € B}
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e AB=AoB:={wjve A,w € B}
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e A¥ ={ww;---wyIn>0,w; € A}
0 star [1 I
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0000 (regular expression)

00000 ¢ooooo
e UL eDbDOO
e U000 ac O0ODODOO

e 0000 RSOOMO
(RUS)DODOOO(RS)DO0OOO
e 0000 RSOOMO
(RoS)0DODDO(RS) ODODODO
e 0000 RODD RFODODOD
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0000 (regular language)

0000 ROOOOOD L(ROODODOOOO

o L(N)=0

o L(e) ={¢

e L(a)={a} (a€X)

e L(RUS)=L(R)UL(S)
e [(RoS)=L(R)oL(S)
e [(R*) =L(R)*
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(Non-deterministic finite automaton)
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DO0000L0 alphabet 000000000000
(1) LOOO

() 00 aceZ 0000000 Ovresp. OO0
000 aOO0O0OOOOO £, (resp. 74)

(b) D weXOODOOOOODOresp. DODODO
000 wDOOOOOOODO ¢, (resp. 1)
00000 wOooooooooooo

(c)DweXr 000000000 LOOOOO
00000000 S¢w)oooooo S
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Q) M=(Q,%,8s,H000000000

(@) 00 q€QDO000D0DO000 wex*

godooogogo 6(q, w) 0O0oooog 5
00000 WwOOOOoOooooooo

(b)) DOOMOO weZ 000000000
00000 &

(c)MOOOOOOO L(M)

(d) 00 qeQODOOOOODOOODDOOD
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M= (Q,ZL?,s,F)
ooon
e QUUIOUDO ---ODDODODO
e 210000 --- alphabet, . =X U{e}

e 5:Qx I —PQOOOOO
. 000000000000000

escQ-.-- 0000
eFCQ..- 0000000
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M =(Q,ZL,s,F)
O00weXr0Ooogno
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o L(D)=0
o L(¢) ={¢
o L(a)={a}
e L(RUS)=L(R)UL(S)
e [(RoS)=L(R)oL(S)
e L(R*) =L(R)*

(1) 00 L(0),L(e),L(a) D0DOO NFAODODO
(2) 00 A, BOOOOONFAOOO
00 AUB,AoB,A* 00000 NFAO OO
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NFA
recognizing A

NFA
recognizing B
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NFA
recognizing A

NFA
recognizing B

gobbobooooobobooooboobod

ADDOOO NFA My = (Qa,Z, 04,54, Fa)
BOODOOO NFA Mg = (Qg, Z, 88, s, Fg)
— AUBOOOODO NFAM=(Q,Z%58,s,F)
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0 : NFAM=(Q,%,5,sF) 00000
000000000000
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0 : NFAM=(Q,%,5,sF) 00000
000000000000
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0 : NFAM=(Q,%,5,sF) 00000
000000000000

0000000000
NFA M = (Q,%,6,s,F) 0000

NFA M’ = (Q',%,¢&,s,F) 00O
LM)=L(M) 00 #F=10000000000
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ADDOOO NFA Ma = (Qa,Z, 04,54, Fa)
BOOOOO NFA Mg = (Qsg, Z, 58, S, Fg)
oo
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